MIA M IDADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

KML Windows, Inc.
23 Buchanan Court
London, Ontario, Canada N5Z 4P9

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Clad Outswing Wood French Door-Impact

APPROVAL DOCUMENT: Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets 1
through 12 of 12, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 5/13/03, signed and sealed
by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Revision stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 00-1030.02 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 03-0625.03

Expiration Date: April 26, 2004
Approval Date: October 09, 2003
Page 1




KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

L. Manufacturer’s die drawings and sections.
2. Drawing No.1228A, titled “Aluminum Clad Wood French Impact Doors”, sheets
1 through 12 of 12, prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 5/13/03, signed and sealed by Warren Schaefer, P.E.
B. TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94

2) Large Missile Impact Test per FBC, TAS 201-94

3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Architectural Testing, Inc., Test
Report No. ATI 02-35026.01, dated 2/19/03, signed and sealed by Steven Urich,
P.E

Submitted under NOA# 00-1030.02

2.

Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-07, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E
Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-08, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0625.03

Expiration Date: April 26, 2004

Approval Date: October 09, 2003



KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS

L. Anchor Calculations and ASTM-E1300-98 analysis, dated 6/18/03, prepared by
W.W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren
Schaefer, P.E.

Submitted under NOA# 00-1030.02

1. Engineering Calculations prepared by W.W. Schaefer Engineering & Consulting,
P.A, dated 8/28/00, revised on 8/28/00, sheets 1 thru 12 of 12, signed and sealed
by Warren W. Schaefer, P.E.

D. MATERIAL CERTIFICATIONS
Submitted under NOA# 00-1030.02
L. Notice of Acceptance No. 00-0524.06issued to Nebula Glass International Inc. for
“Glasslam Safety-Plus Laminated Glass” dated 9/21/00, expiring on 9/9/03.
2. Notice of Acceptance No. 02-0828.16 issued to E.I. DuPont DeNemours for
“Dupont Butacite ® PVB” dated 11/21/02, expiring on 12/11/05.

E. QUALITY ASSURANCE
L. Miami-Dade County Building Code Compliance Office.
F. STAMENTS
1. Laboratory compliance letter for Test Report no. ATI 02-35026.01, issued by
Architectural Testing, Inc., dated 2/19/03, signed and sealed by Steven Urich, P.E.

F. OTHER
1. Notice of Acceptance No. 00-1030.02, issued to KML Window, Inc., Aluminum
Clad Outswing Wood French Door, approved on 4/26/01 and expiring on 4/26/04.

%K&/ﬂ?& /—J%W\am

“Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0625.03

Expiration Date: April 26, 2004

Approval Date: October 09, 2003



CHECKED BY:

l—_ — ” DRAWN BY:
(r 37 5/8" MAX. OSM 74 3/1? MAX. OSM e E
W 1/4" TAPCONS WHEN INTO .
CONCRETE HEAD (2 PER STRIKE PLATE) - Z
L L l( ] @@ NO. 10 SMS (WHEN INTO 27 E
VINYL NALL FIN WOOD HEAD (2 PER STRIKE PLATE) g
G o e | (OPTIONAL WiTH B1\gB2 B 1\¢B2) @ VINYL NAIL FIN
RECTANGULARSEGMENTAL HALF ROUND TRAPEZOID RinGLe | SHEAR SCREW @ i . w w C (OPTIONAL WITH .
INSTALLATION) S 5 SEE "CORNER DETAILS 3 SHEAR SCREW
\\/ ON SHEET 8 N ‘ INSTALLATION)
W K } —— 4 e e e T = il — e F— 8
L/ AV, ik el 7
1A ~— 1 - — 9
N o TFT T B | )
7] . As! " Lo 2
EXT. REV. DOVBLE DOUBLE EXT. // [ 48A /// @ / (RN RN S | 2
SEGMENTAL ~ RECTANGUAR  PARTIAL SEGMENTAL 43A" | 1L / \\HJ] i —+ / I I - - -
NO. 12 SMS |° SHEAR SCREW il NO. 12 SMS | SHEAR SCREW mik \ ; ‘ g
INTO BUCK INSTALLATION U ',’;T%E%U%P INSTALLATION ullu
(2 PER TOP SEE OTHER ELEVATION 4 kHNGE) SEE OTHER ELEVATION g o
HINGE) il FOR CLIP INSTALLATION f-; g gtk FOR CLIP INSTALLATION i AN e a
] W l I N
DOUBLE EXT. DOUBLE EXT. 3 / | 9 ! } / | /// N\ g .2
HALF ROUND QUARTER ROUND ) |t ° > Lt ” Hi° y X
S G0— / ACTIVE | S [ 24 7/8 | \ 2 330
o HINGE ! @ 11 +H = 0 HINGE 1 MAX. D.L.O. | -+ i % = -_ U<z( ,C\J
M M 2 M 2 e (n <
% : I, n 8 % : INACTIVE ! =l ACTIVE /2 B £z31
= @ | x = A I ” & ‘ = 2598
% 24 7/8" 2 2 | \[E : 2|zze°
- - ~ \ MAX. D.L.O. I, AN \ 31A & 324 | . S 3 F 8Z5
DOUBLE DOUBLE EXT. REV. O L [fe} o \ | 8 [Ty} a 4 Mz D
TRAPEZOID PARTIAL SEGMENTAL ~ - S1A & 32 \h-— o v —-- \(‘1 e o _| 2,08
L Q N
SHAPES CONSIDERED AS (49 j N MRt i N¢ i J, in / E g
THIS APPROV (49) U” =k 2
PART OF THIS APPROVAL 0. 30 54 N | ) Al ol e 8
WITHIN 4" OF Y1 o/ L ul \ | y I8 sl 2
N @‘\ ° ° a L) Z P
NOTE: FOR COMBINATION OF || |SORNERS & | N HANDLE " N 52
NUTE MAX. 12" 0.C. H | = H il - & -
UNITS. SEE SHEET 3 SN | P NO. 10 SMS ‘. i e & y “ly
] ° o~ T " ° ° + ¥
& MULLION DRAWING < L WTHN ¢ OF > N a4 S| & %o
_ll . e CORNERS & |1 . Ty | Sl &  33R
NO. 1003E UNDER Y L MAX. 12" 0.C. n el I 0 UL = W< Rl
SEPERATE APPROVAL i i ; 3 i I ol =58
] > || o I . | 25
— + @ + o~ WO 5ug
I N 34 | N > | «F &5
ALLOWABLE DESIGN LOADS o \ T T o - - = | 3558
m NNV — 2 #% [
T 7 Y T 1 4 It T ) 3  § - 20 "Q
+65 PSF/-70 PSF | | | | | I ! l 53 |58 280
1/4” TAPCONS WITHIN 4" OF hoop Sl WHEN IO P[22 4 238
CORNERS & MAX. 12 0.C. hOOD SILL (2 PER STRIKE ig < |58 83 5
FOR JAMB FASTENER EMBED & EDGE EXTERIOR ELEVATION WHEN INTO CONCRETE EXTERIOR ELEVATION LATE) e g
DISTANCE REQUIREMENTS SEE SHEET 3 SINGLE RECTANGULAR FRENCH DOOR e DOUBLE RECTANGULAR FRENCH DOOR 1/4" TAPCONS WHEN INTO
SCALE: 3/4'=1-0" NO. 10 SMS WITHIN 4" OF SCALE: 3/4"=1'-0" CONCRETE SILL (2 PER ¥
CORNERS & MAX. 12" 0.C. STRIKE PLATE) a
GENERAL NOTES WHEN INTO WOOD FRAMING . @8
SRS 53
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR 5. ALL JAMB TO BUCKING SHEAR FASTENERS MUST PENETRATE BUCK A 2 oc 3
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN ON THESE DRAWINGS. MINIMUM OF 1 3/8”". IF PENETRATION IS LESS THAN 1 3/8" THEN & o @2
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE DESIGNED & SCREW LENGTH SHALL INCREASE AS REQUIRED. &l 2 Z;
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS THE FLORIDA BUILDING CODE (FBC) - @
& MAY NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. 7. THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH FLORIDA By (D e =
: Miznfi Dade Product € untrel
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS BUILDING CODE PROTOCOLS TAS-201, 202 & 203 FOR LARGE MISSILE Sham o T
) FvEsion . .
PRESSURE TESTING IN CONFORMANCE WITH FLORIDA BUILDING CODE ’ I SHEET NO
PROTOCOLS TAS 201, 202 & 203 FOR IMPACT DOORS. 1 o 12

L |



—

74 3/16” MAX. OSM 74 3/16” MAX. OSM R
" PLOT: DATE:
1/4" TAPCONS WHEN INTO 1 /4" TAPCONS WHEN INTO s | 0e13/08
Elg %cr)e(ﬁv:s1/4n s NO. 10 SKS WHEN INTO NO. 10 SMS WHEN INTO 5
OF CORNERS & MAX. SEE "CORNER DETAILS” INSTALLATION)
10 1/2" 0C. SHEAR SCREW 3 -
INSTALLATION) ON SHEET 8 5
SEE "CORNER DETALLS” - :
ON SHEET 8 ———\ B “ : i
= LS S/ o |
\ NO. 10 SMS Kg / R \ ir g
e £ L4 T i ; ° 9
. L. N — il I'T
NO. 12 SMS HH H 48A) INSTALLATION 0| N
INTO BUCK / L q_k SEE OTHER { N o
(2 PER TOP SHEAR SCREW \ N0 T2 SHS s ELEVATIONS FOR 1\ N 8 &
HINGE 7\ B SHEAR SCREW | x_@ \ B N
) s oner ewnon || | 27 07 wstaonov /7 ||| /) :
HINGE) . y, 4 74 , e
, FOR CLIP INSTALLATION | 1 g 4 7/8" I A 2 28«
o 31/2) o : 24 7/8 - \ Z 03—
= E / | \ ) _L— = | MAX. D.L.O. | H L N U<z(,<3
= . s i : ] Q=3
- ::g v INACTIVE : .| ACTIVE - 1o {1 INACTIVE : 5l ACTIVE M|l 2 | 550
s 47 ) 8 Q Q y
2 incd 24 7/8" | e NP g = l ‘ g8| 8 z T2
: MAX. D.L.0. TN ' \ | 8 S<o
= N S1A & 3|l / - 1N 61861 & 32 Nl s 238|283
- v N - - q 1 2 ~
© | . 0 36 = \ \ﬁ & S . A<
™~ —H ~ - Q 0 \ :J / I Q Z
\ n Z o FIN SCREWS N \g - jApn y . ol g I3 o)
. g AL FECE // ) 2 NO. 8 X 1 1/4" SMS N I y > 2
@ N . tj” y 7 OR 1 5/8" DRYWALL @@ { /_@ al I S
A y o SCREWS WITHIN 4 £ N | 4 o £ R E
NO. 10 SMS | | N sy’ o, 3 OF CORNERS & MAX. \ PANDLE 4? Y g Iz
WITHIN 4" OF "/ \ HANDLE 4/ ~ E ) 2 10 1/2" 0C. +H \ i = INSTALLATION o -
CORNERS & HIN all = . N \ HHH—¢ CLIP 4" FROM -lg . ¢
MAX. 127 0. ~ \ H HH |/ i > \ / / CORNERS & MAX. ol & Reo
. It "/ . b Iy H G o3k
= h / u m | o h / = 12" 0.C. S| Yo dEh
R BN | | o I I8 ] il N S N /| 4 E ol 258
il SIS N 11 / E ' W o NER L N | : | B 53
l o NI : 2 il : & 3| B¢ gy
| AN / -+ o @ @ o~ — i~ o
- I ~ > 3 NI - E - 2| Hs5339
@ . || W - 1N HINGE : : A 2 . r : - z| €253,
HIVGE : . LA . . - I d migi.y I ! 43 [0 55 287
! - I IL\I l I NO. 10 SMS WHEN INTO =1 ML
P NO. 10 SMS WHEN INTO 1/4” TAPCONS WITHIN 4" OF - WOOD SILL (2 PER STRIKE 2= 5= g2,
1/4” TAPCONS WITHIN 4 OF @ WOOD SILL (2 PER STRIKE ~ CORNERS & MAX. 12" 0.C. EXTERIOR ELEVATION PLATE) N 5
%ﬂE:ETNSTo&cm)éRéTZE 0c. EXTERIOR ELEVATION PLATE) WHEN INTO CONCRETE DOUBLE TRAPEZOID FRENCH DOOR 1/4" TAPCONS WHEN INTO - -
DOUBLE EXTENDED QUARTER ROUND 1/4" TAPCONS WHEN INTO NO. 10 SMS WITHIN 4" OF SCALE: 3/4"=1"-0" CONCRETE SILL (2 PER \ ul
NO. 10 SMS WITHIN 4 OF SCALE: 3/4"=1"-0 CONCRETE SILL (2 PER CORNERS & MAX. 12” 0. @ STRIKE PLATE) Z o
CORNERS & MAX. 12" 0.C. STRIKE PLATE) WHEN INTO WOOD FRAMING g =\ b
WHEN INTO WOOD FRAMING o g S £
OBUCT REVESES ol e« \ 02
NOTE: FOR COMBINATION OF B i AP\
UNITS. SEE S Acciptuiie 70 0B ~0625.09 °© &
P FOR JAMB FASTENER EMBED & EDGE Wi i 4] 26 104 2 g
NO. 1003E UNDER ALLOWABLE DESIGN LOADS DISTANCE REQUIREMENTS SEE SHEET 3 ‘1@@5“@5&% o
S P Divisio el Lontry| 1 A
EPERATE APPROVAL +65 PSF/—70 PSF - 1228
2 or 12

i



—~

DRAWN BY: CHECKED BY:
K.P.S. W.W.S.

DATE:
1=16 05/13/03

ALLOWABLE DESIGN LOADS
+65 PSF/-70 PSF

DATE

BY

. Zz
37 5/8" MAX. OSM 37 5/8" MAX. OSM 5 NOTE: FOR COTMBINATlON 5
: SELLLJI,EJ)INS.DRSAEVEING
. , ) \ VINYL NAIL FIN 4
N SHET B il F2 i T[T MY (oeriowa NO. 1003E UNDER :
x //"l\ 7 I l 7 ! | INSTALLATION) SEPERATE APPROVAL é
D > - = : I - I3 = 3
2 l ‘\ " | I..'l I B 1 2
\ Il i ]
/
N / N <
NI // : . N &
+ T - % F INSTALLATION JAMB FASTENER MIN i
Py SHEAR SCREW ° N CLIP B CUP 4" FROM : O %( o~
INSTALLATION INSTALLATION CORNERS & MAX. EMBEDMENT 2895
SEE OTHER SEE OTHER 12 0.. NO. 10 SMS INTO BUCK = 1 3/8” i OZR
NO. 10 SMS ELEVATION FOR N ELEVATION FOR . NO. 12 SMS INTO BUCK = 1 1/2" 2z31
NN 4 OF CLIP INSTALLATION = SHEAR SCREW E 1/4" TAPCON INTO CONCR./BLOCK = 1 1/4" 8 251
INSTALLATION el zzz°
CORNERS & | £ 35z
G MAX. 12 0C. s : S : : gl = 252
3 FIXED - | FIXED i JAMB FASTENER MIN. S : .02
= T T ~ H - EDGE DISTANCE Q. %
< , ; E: : - = WOOD JAMB & BUCK = 1" o
: @ ; E2 g CONCR./BLOCK = 2" =k z
[s0] [ve] . I ju -
N 11\ , S . : I\ : S 12
i 4 24 7/8" ! 0 3 E = ol =
| MAX. D.L.0 h i IR Jp— ; 2 “1 ¢ g
. PR ) ) MAX. D.L.O. ) T ol Z 3z 7
FIN SCREWS S| & %o
NO. 8 X 1 1/4" SMS = | we OBl
A | i ] OR 1 5/8” DRYWALL ol 5253
: : 2 < SCREWS WITHIN 4" | B auk
OF CORNERS & MAX. o Zz 32"
10 1/2" 0.C. < | s5 8y
' Y ' ' VAl 3| B3¢
- - 4 <(Z 55-0
T 2 T 43 .58 285
F3 (22 a8
12" MAX. ‘ 12" MAX. | | 12" Max. eX 3= 84y
< z ., Q
| 2 CES z
; i ' i i i = .
& waxd P 4 wax P & wax z S &8
. . B o~ 93
ab 6’:} 1/4" TAPCONS WITHIN 4" OF < NN\ [T
1/4" TAPCONS WITHIN 4" OF  NO. 10 SMS WITHIN 4" OF EAIERIOR _ELEVATION @ CORNERS & MAX. 127 0C. T D rids \ 15
. as complying with the Flort = ) w
CORNERS & MAX. 12° 0. CORNERS & MAX. 12" 0. FIXED PANEL DOOR/SIDELITE WHEN INTO CONCRETE Buiding Cade o) = Q\ i
WHEN INTO CONCRETE WHEN INTO WOOD FRAMING SCALE: 3/4"=1"-0 @ NO. 10 SNS WITHIN 4" OF e e -43 =2 Mg
. 41 841 X =
CORNERS & MAX. 12" O.C. e
MO_B—_ELEVATION WHEN INTO WOOD FRAMING gia i Dade Product ¢ontrol [~ ORAWING NO. REV.
FIXED PANEL DOOR/SIDELITE Division 1228A
SCALE: 3/4"=1"-0" SHEET NO.
3 or 12

_ |



—

—

1/4" MAX. FRAME MAX. OSM 1/4" MAX. A S
HIM (TYP. : :
SHIM (TYP) KEEPER PLATE HELD TO ASTRAGAL SHIM (TYP.) TN
VIN. 2x4 PT WITH 2 NO. 8 X 1 3/4” SMS MIN, 2%4 PT|l
WOOD BUCK WOOD BUCK |3
BY OTHERS BY OTHERS
/" //'/ ’ z
/ Q
XX L
EYITTTITTATAIANY b
i 8
) Y / INSIDE 2
- \%/ / s 16) |I8
v. 9 | 1l ( \i f/ NN :
v u 7 )\l AN N | - Y gL X/< ‘ \\ g
- N7 J E -y
AW ] e gz
D
QUTSIDE SILICONE SEA QUTSIDE : . EZ
& SCREEN SPLIN — O B«
= 8<g
wml(H 2= — N ) o ] N e P O% o
£z
SECTION g o| € 208
opionaL  \] 6AAT6B SEE "GLASS DETAILS A & BICKER ROD | £33z
ON SHEET 9 SCALE: HALF FULL SIZE W ol L3527
[SHEAR SCREW INSTALLATION] SEE "OPTIONAL JAMB DETAL” ON SHEET o | CLIP_INSTALLATION | | 208
FOR DIRECT MOUNT TO BLOCK OR CONCRETE 2 “z
1/4” MAX. 1/4” MAX sk o
—] ] " E
SHIM (TYP.) FRAME O.S.M. SHIM (TYP.) L 5 3
L. -
o2
@ z g
MIN. 2X4 PT o >
D WOOD BUCK al & . ¢
M= BY OTHERS ARAREL
% 2| weodl
\ \\ // INSIDE @ a gol ;db‘%
et 3| &g 5
R AAVRNVARNVAV LN N N © n:é é‘a’N
0\ N
“ D\ \/\,'/ v/ D T LY 3 297 %23
NS |/ - | SN \ / SSEREFER
RIS Y L e s |3F 8%y
i1y S s s &
, % 1 \T . \\ I// S ox a
] 0 L :
’ U 2R\ E
==y Wy
i:: o~ 0 . §~r
5 N ES
= J X 59 Lsicone seaant ON SHEET 9 PRODUCT REVISED = pai 52
complyinig with tie Flor 42 \ uj
36 oprionag & SCREEN SPLINE OUTSIDE B2 e H= \\ z
cptance 2 09 <0028, ‘ \ x
SECTION /e SECTION /2 Exiran s AL TRA° ||
SCALE: HALF FULL SIZE\ 4 / SCALE: HALF FULL SIZEW By BRAWING. 0. TREV
[SHEAR SCREW INSTALLATION] D ol Coniri 1228A |
| CLIP INSTALLATION | SHEET NG,
4 o 12

L



—

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

s
ot

OPTIONAL

1/4" MAX.
[ SHIM (TYP.)

SEALANT
& BACKER ROD
BY OTHERS

AVALAN AR ANR AR RN Y

16A (168

YT

OUTSIDE INSIDE

~
\/

q ALY

|
)

l
|
SEE "GLASS DETAILS™— ||

\
By
I (AT \‘

ON SHEET 9 Wi

FRAME MAX. OSM

arrr
,;_‘
\/
<EXITYHY Im?
S: —_——— — —

(e v om— e

e—7
\<~\
N7l

1/4" MAX.
[ SHM (TYP.)

f

<

SECTION
SCALE: HALF FULL SIZE W

[SHEAR SCREW INSTALLATION]

SEE "OPTIONAL JAMB DETAIL™ ON
SHEET 9 FOR DIRECT MOUNT TO
BLOCK OR CONCRETE.

SEALANT

O+

MIN. 2X4 P.T. WOOD
BUCK BY QTHERS (TYP.)

@ |

1/4" MAX.
[ SHIM (TYP.)

& BACKER ROD

BY OTHERS

OUTSIDE

SEE "GLASS DETAILS™——

ON SHEET 9

\/
THRY ”;j‘y‘b

[s;

—— — —

é

INSIDE

FRAME MAX. OSM

1/4” MAX.

[ SHIM (TYP.)

8454:040.00;7 29000

SECTION

SCALE: HALF FULL SIZE

-

CLIP INSTALLATION

f

PRODUCT BEViSEy
ik it the Floridg

Miandi Dede Preducr Ceantrol
division

|iorawn BY:
K.P.S.

CHECKED BY:
W.wW.S.

PLOT:
1=2

DATE:
05/13/03

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

KML WINDOWS, INC.
23 BUCHANAN COURT

LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

LE

ALUMINUM CLAD WOOD FRENCH IMPACT DOORS

CONSULTANTS

DRAWIN

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING
8895 N. MILITARY TRAIL; SUITE C—204

PALM BEACH GARDENS, FL 33410
PHONE: 561-775~4902 FAX: 561-775-4903

CERTIFICATION
N 18 2nn3

=

. 44135

WARREN W. (SCHAEFER, P.E.

ORAWING NO.

1228A

REV.

5

SHEET NO.

of 12

_ |



—

DRAWN BY: CHECKED BY:
B B E— MIN. 2X4 P.T. WOOD MIN. 2X4 P.T. WOOD et
@ 5 R R BUCK BY OTHERS (TYP.) @ BUCK BY OTHERS (TYP.) R T
Dl > D i
OPTIONAL |- E .
2 1/4" MAX. @ 1/4" MAX.
pt
! :
SEALANT 2 [ SHM (TYP.) SEALANT // ——7 [ SHIM (TYP.) z
& BACKER ROD & BACKER ROD e &
BY OTHERS BY OTHERS o 7 &
» N \\ T =
[ = z
168 ESES SE== %
~ “ \\ b‘:’
a = a i 3
2z \ = 2 7 ]
C——o 5 59 N
@ 24 ™
—Z
y X
2 38w
. 0Zo
OUTSIDE INSIDE OUTSIDE INSIDE Q257
: s Q2 %
8 Z0
2| Z 1z
= = ol = <5x
7 a o) 2= 2
nd ) - mZL()
— FE—— . — P —— 2 | 2502
( \ = ( \ = £k 8
| N | 2 I N I = 2|2 z
' ‘,‘«{>:]_,$\’ I = | & P T | x (:13 g >
” » WO ” ’ s <R
SEE "GLASS DETAILS’—: RN II e ‘ SEE "GLASS DETAILS'—: AN '|/ . é 2
ON SHEET 9 P ON SHEET 9 ST “1 o g
Lo L ' /'1/ @ Q & %92
e —— 2| B lat
/ /,/ / // // @ (5) Eg étgg
/ / Y A = el
P‘/I( \\ = %5 :mg
2 < z| €2554
e \ .S |, £8 38R
] S~ I =5 230 24
i z N N <—,:l = .,,iu"%
A R e a9 gy
=08 7 D 2 ER
1/4" MAX. /Y / /) I /‘@ 1/4”" MAX. u
[ sHM (TvP.) 4/ 8/ VAL N f sHm (ve.) >
N \ z| S &3
f f SN
‘ E é oc 155
s PRODUCT REViISED Bl =S =
2 NN
O
=2\
=
SECTION m SEE "OPTIONAL JAMB DETAIL” ON SECTION ﬁ)_Z\ o o T
SCALE: HALF FULL SIZE  \ 6/ SHEET 9 FOR DIRECT MOUNT T SCALE: HALF FULL sIZE \ 6 _/ - 1228A
BLOCK OR CONCRETE. Divisios SHEET MO
[SHEAR SCREW INSTALLATION] [ CLIP INSTALLATION | B o 12

_ |



DRAWN B8Y: CHECKED BY:

K.P.S. W.WS.
_ — MIN. 2X4 P.T. WOOD 1 I, MIN. 2X4 P.T. WOOD P [Meensses
@ > \ o BUCK BY OTHERS (TYP.) @ et K BUCK BY OTHERS (TYP.) i
(::) e @ &
OPTONAL | Z 8" WAX. Q) T 1/4" MAX.
2 [ ShiM (TYP) [ shiv (TvP.) :
o Bk z & BACKER ROD R ?/ < = :
& BACKER ROD QWS - — AR = —. 2
BY OTHERS 4! E// 2 /// p % BY OTHERS fﬂ o }Qﬁ/ P @ 8
% S f - 18 — g’d -7 %
16A 168 ey B 16A (168 AV TR 2
39 | /\\ 1 39 | .—\ ‘]
AN AN g
DOW 1199 /;Q (49 DOW 1199 ———— /;Q
SILICONE SEALANT ‘/é ,5 SILICONE SEALANT (552 : 4N\
& SCREEN SPLINE . AN 65 & SCREEN SPUNE 2 L\ /\/\\ 65 @ 2
( }—\ ; ! @ N AN B
: ‘ @ 24 \>( @ ) Ez
| : % ng
| | | 4 =825
| | ‘A g =30
OUTSIDE AVAYS' 1 INSIDE OUTSIDE >HF INSIDE 3 3°-
: ’] ¢ 0| S 258
A Z =
Q gﬂ E S| = 5%@
2 Z MEE
S o el s &oun
. . (- Y ™ R
— - S 3 ol “z
( \| = = % i 8
w w w = I2 z
Bl S 2 2 zff 2
| Y & N 2 [
” ” W v » ”
SEE "GLASS DETALS"—| || ¥ § | —19 SEE "GLASS DETAILS | 4 a—
ON SHEET 9 k e ON SHEET 9 al 2 3.3
L ® 6 d__r 69 2| Begcil
[ i o =a = 8
: al 2% 3e”
/ / /,""/ | /’/ % ! : // @ (S) ELZ; :_‘Jgs
’ /) ’ //‘ / A [2 e E—gg
e % O— 17 2| s
y \"\ \\ \\ A ) Z (n %5“"
& iy = Y (e LE | £2 358
Y 23) Va2 Yt P ES [£5° =25
@ . BR ’ ) B P . \\ < |5 . 3 gé‘n
SLICONE. SEALANT \\\ 28 B SICONE. SEALANT E \ s |gF 8%y
SILICONE SEALAN as 4N N oy v\ E |3+ ?
=N y AR \ N \L\ ) N\ N 'a) o= o
7 N N=
20 = 7 N B . .
3 ] g/ \/—@ 1/4" MAX. g ,\/—@ 1/4" MAX. .
1 AR ' ~ [ SHIM (TYP.) B I\ N { SHiM (TYP.) > g
/o H = g
e PRODUCT REVISED & =y
@ e &) ;’ug_mlﬂying with the Floridg S go.
ACC&; Qa‘.Qb ;
SECTION /1 SECTION /2 N —
SEE "OPTIONAL JAMB DETAIL” ON ) By A ~ o
SCALE: HALF FULL SIZE \U SHEET 9 FOR DIRECT MOUNT TO SCALE: HALF FULL SIZE \U g’:‘ ‘iDud{« ATd;\é ovirg) ligTBﬁO
ES2( N
@EAR SCREW INSTALLATION] BLOCK OR CONCRETE. LSHEAR SCREW |NSTALLAT|ONI fon 7 o 19

_ |



—

DRAWN 8Y: CHECKED BY:
K.P.S. WWS,

NOTE: THESE SCREWS MAY BE REPLACED 3/8'x1/2" WOOD
WITH 1/4" TAPCONS WHEN FRAME IS DIRECT TENOM MORTISED
MOUNTED TO BLOCK OR CONCRETE OPENING INTO STILE & RAIL

DATE:
1=2 05/13/03

(SEE "OPTIONAL JAMB DETAIL" ON SHEET 9) ﬁoghU%fEU\ngH PVA &
(FULL DEPTH OF RAIL) 27/8"+
e X2 WOOD GLUE 5
e JAMB TO JAMB
é e RAII/ §
e s * T
= ] o o
c g Kl /—@ / / ?/ /7 ] 3
Z _'} Z R %
= T P —
wled 8 N COUNTER SINK - $/ RABBET JAMB TO :
ﬂ[:] ,<£ a jﬁ(/; AG BOLT 2 ) JAMB  CORNERS :
= (U AL 1" DIA. WOOD
5NO. 8 X 3" SMS—\:\\E & N‘*’ DOWEL & PVA /‘ - ~
SCREWS PER PANEL GLUE 2 g
KEEPER BAR (2 INTO ||’ 13y @ STILE @@ JAMB TO JAMB DETAIL CLAD TO CLAD DETAIL S
STILE & 3 INTO RALL) JHL7 SCALE. NTS. SCALE: N.T.S. §
SR S Ex
o k JAMB CORNER DETAILS 2822
5NO. 8 X 3" SMS gl PANEL KEEPER BAR. STILE TO TOP RAIL CORNER DETAIL g -5
SCREWS PER PANEL (SEE DETAIL THIS SHEET) SCALE: N.T.S. JAMB & CLAD 8 .5
KEEPER BAR (2 INTO — N+ o gl z £2°
STILE & 3 INTO RAIL) || N[ @y Y TS -~ ol =054
N & =l —— 3| 23te
Al @ — = = 01 s ow
g ] o
2 ' Q N
ol S N /‘@ /\/ - 5
- z e R =
Al 7 o . g 9
rl | . ; RS E
]! : E E
A i -
q — /@ COUNTER SINK S o _§
3 ] 2 LAG BOLTS 2" ~_ al £ 3.1
3 = & CAP WITH A N e Q| W 435
R 1" DIA. WOOD 3 AN =l 25"
S DOWEL & PVA 3/8'x1/2" WOOD 2 Yo al 2% aet
3N CLUE A TENON MORTISED 2 S\ PRTHRESHOLD & BUMPER 3| &g g4
5‘ INTO STILE & BOTTOM L= [ T o F £
Y RAIL & GLUED WITH A YA /il Z| ©53:32
P PVA WOOD GLUE | ¥\ [P z| 92251
s Io =3k
SECTION @ STRIKE PLATES L0 8 P p———— ST
SMS THROUGH THRESHOLD : < |Sx® 82
m SASH STILE TO RAIL CORNER DETAIL CLADDING & INTO JAMB JAMB & INTO THRESHOLD s 2% 8%
SCALE: HALF FULL SIZE \8_/ SCALE: N.T.S. CLAD SCREW BOSS (EXTEND JAMB TO THRESHOLD BASE) 5 |8= &
10" THRESHOLD TO JAMB CORNER DETAIL
3.25" 425" 2.25" z| &2
2.00" ?.2/18" DIA. H(;LES 2.50" 0.312"~ |— «—' ~—0.312" SN
0.75"— 7/16 C-SINK ~—0.75" .562" t = 0.078" 3]
r \ ] 0.687" ro | = ff\\ <
R C LI S = = e 1L A
L x
" i1l ._! %
0.50") N—0.625" DIA. HOLE FOR FLUSH BOLT STRIKE o13d | %EEGS DIA—"0.812" - o] =
. . [ DRAWING NO. | REV.
.. PANEL_KEEPER BAR DETAIL STRIKE_PLATE_DETAIL 1228A
1/4 X 17 A36 STEEL NICKEL PLATED OR PAINTED BAR NICKEL PLATED STEEL Bivision SHEET N0,
SCALE: HALF FULL SIZE SCALE: HALF FULL SIZE 8 o 12

|



—

" 3/8" "
-~ —3/8 - / —{  |=—SEE GLASS OPTIONS BELOW 4 R .
60 N 60 1" 2 1/16" —] -—15/16" -
SCHNEE MOREHEAD 60 3/8" — £
40 S—M 5054 BUTYL 40 40 r i
TAPE SEALANT \
@ oA (1/8" X 1/4") \ 67 @ 6Y7 | 14" 5
EXTEND P.E.T. FiLM \
_ UNDER STOP MIN. 1/2" 28 \ ) — - & g
" =] N N T N . [
1/2" MIN. 1/2" MIN.— N 4 N 1/2” MIN.— N ! HOLES FOR NO. &
el ooop il = ey | 2|
— 2 AN 27 | 1 ROW OF 6 z
S fayymPa P 1 = mPOECERITY = s O EC P :
8 N H W\ H N ’ ®
N @ NN @ b \y | )
v [y A 0y | o
e L o/ % z
@1\ @ TN\ N >
r Y § Y (1 . | \
. N CONTINUOUS WOOD CONTINUOUS WOOD I CONTINUOUS WOOD >
” o FILLER (SAME WOOD FILLER (SAME WOOD - : FILLER (SAME WOOD ! ' =
AS STILES) (N AS STILES) ] - AS STILES) S - —— — & 5
'._..
s X
TYPICAL GLASS & GLAZING DETAIL TYPICAL GLASS & GLAZING DETAIL TYPICAL GLASS & GLAZING DETAIL 2 8§5§
SCALE: 3/4 FULL SIZE SCALE: 3/4 FULL SIZE SCALE: 3/4 FULL SIZE | | Z 12 G oZR
GLASS OPTION 1: 3/8” THICK NEBULA SAFETY-PLUS GLASS OPTION 2:  3/8” THICK DUPONT GLASS OPTION 3: 9/16" THICK LAMINATED GLASS WITH SAFLEX ! £ 320/
(5/32" AN/0.06" RESIN/ 0.01” DLUBAK "STEP GLASS” PVB (1/4" AN/0.09" PVB/1/4" AN) & 0| S 209
” » " » — —_— _ < I_
PET/0.06" RESIN/5/32" AN) (1/8" TEMPERED,/0.120 GLASS OPTION 4:  3/8" THICK LAMINATED GLASS WITH SAFLEX | A EEES
PVB/1/8" TEMPERED) PVB (5/32" AN/0.03" PVB/5/32" AN) , B R
" I ” ~
2" MIN.———= 1/8" THICK 2 o
SHN B — 1/4" TAPCONS 4" FROM CORNERS Nl [ S)
« L e ® & MAX. 12" 0.C. (SEE SHEET 3 =5 2
1/4" MAX R & FOR EMBEDMENT REQUIREMENTS) L © 2 3
— ' L s : TO REPLACE ALL NO. 10 & 12 _ S El
SHIM (TYP.) 7/ HOLES FOR NO. g 2
e - ¢ ; -\ JAMB & STRIKE SCREWS 6 SCREWS (6 ., G Iz
e CHe o TOTAL AS SHOWN) 2 e - o
s CONT. P.T. SPACER al z <« %
2 = AS REQD S| & 3ok
= ig NS (MIN 3 1/2" WIDE) - 2| 4< °nl
— X o | 5% 5.8
T - H | 3| &g s48
R erseTeTLnereees | \ N Y ' © 5% gy
/ 2 )_0:8
1 \c \\ \\ (39 STRIKE_PLATE DETAL 3| 38
, \ @ NICKEL PLATED OR PAINTED A446 GRADE A STEEL EE wgé 28R
, : SCALE: HALF FULL SIZE ED |2 0° 235
41111 X/l zre / g / / ¢ \/< - 66 gzl g "3 gglﬂ
AN/ / T / L / / 77j ) YX’\)Y 2 z; « lg,
_ e iz awi Te Y A PO
] 7z 7 7 /;ﬁ: \V[\I \ \ \\ & o= =
LS . K’L N VTS MIN. 2%4 PT. i
0J “ilo o+l BUCK BY OTHERS o
Caa A Z 8
99 6 b} W
F \ = S
- £ #g
164168 © g
£
SECTION T OPTIONAL JAMB DETAIL FOR DIRECT ay |
AL VT DRAWING NO. | REV.
SCALE: HALF FULL SIZE \ 9 / MOUNT TO CONCRETE OR BLOCK Miarhi Bacz Froduct Control 1228A
FVIS QS
SIMILAR FOR CLIP MOUNT (TYP. ALL UNITS) SHEET NO.
SCALE: 1/2 FULL SIZE 9 o 12

CHECKED BY:
W.W.S,

~ ]



—

M + 560 R
‘ /_ VENEER 4.562 N ‘ ) = mgg;/u/os
( l_[( Z ‘ 0.703 L':EJ
S R ! T :
\ 0. 0625 703 T -
| o
L?,_\‘ W\ I XX : —’l 0500 ] = 0.500
0.645 \__PONDEROSA PINE LAMINATED IN 5 BLOCKS (5) LINEAL_WOOD (7) RADIAL WOOD %
LINEAL WOOD FRAME JAMB RADIAL_WOOD FRAME JAMB GLAZING STOP GLAZING STOP
(PONDEROSA PINE) (LAMINATED VENEER) (PONDEROSA PINE) (LAMINATED VENEER) °
4.250 g
— 2187 ————— 2.500 ,
2.187 g
“’ / / / f ] ! I P [
’ ] j ' [ Py I I \
. A A f ‘ ) S— BN EEEE ; 2
I R A A A U | B A T i :
0 '/ LINEAL DOOR STOP RADIAL DOOR STOP L s B
WOOD SUBSILL @ (PONDEROSA PINE) (LAMINATED VENEER) 3 BERE R PAE ~ 325
(PONDEROSA PINE) | % z3 1
; U wn % %9%
1.750 3 n S| = 0%s
- | 8| 45350
1.750 2.468 K\}SL _ )
| - 7 N gl [ o)
. ! f || T |2 >
N ! P \ : O I2
0.937 | | 2.125 Lo z |z
WOOD DOOR — i o | avls
EXTENDER - — 3| 8¢ st
PONDEROSA PINE , 5.750 eE E4,
( ) . 1750 (T3) ASTRAGAL x| 13558
(9)DOOR THRESHOLD T (LAMINATED VENEER) HELEL
CAP_BUMPER o\ E2 25 238
(PONDEROSA PINE) VNN A EPOS L
NN £ |5= I
2.000 0.250 e S @3
(@] LL;
BV N N N / ) 5 € :
\ \ NN PRODUCT REVISED £l e oz
ASTRAGAL CAP VRN B o o on Zhe 2
(PONDEROSA PINE) . ﬂ = &
J - =
(1) RADIAL_DOOR_RAIL ST
(LAMINATED VENEER) @LINEAL TOP DOOR RAIL 1228A
(PONDEROSA PINE) 138‘EELF“°1'2




—

1.750 i

N\ \\

/

9.000

’ /

DOOR_BOTTOM RAIL
(PONDEROSA PINE)

/—J'
[ ]
q M E 0.078

1.750

0.810

f
OPTIONAL

@ JAMB CLADDING
(

6063—-T5 ALUMINUM)

(GALVANIZED STEEL)
Fy = 33 ksi MIN.

— 0.360

4.558

—1=—10.060

- 1

DOOR STILE

CLAD
(6063-T5 ALUMINUM)

4.750 J 1.750
__‘ 0.053
7 7 .
| — 0.810
/, :\\\1‘ \\\\\\ J_ j}xﬁ q
R I T JAMB CLADDING
N ) ’ . (6063-T5 ALUMINUM)
T~ T
2 * 0425~ =
WOOD_STILE i
’_.0.860_._ (PONDEROSA PINE) ' 2.834
[~ 0.860 0.062
0.916 ] 1.026
0.916
(17 RADIAL GLASS STOP i (19 DOOR SILL
(6063-T5 ALUMINUM) LINEAL GLASS STOP (6063-T5 ALUMINUM)
(6063-T5 ALUMINUM)
i 1.413 | s ~ o3 5.672
0.078 0.812 | ! | ;L
332 “ J/ 0.0SO—f 0.050 — J
(20 THRESHOLD MULLION CLIP @ (23 RAIL_CLADDING
EXTENDER PLATTED MULLION EXTENDER
(6063-—T5 ALUM|NUM) (6063_'['5 ALUM]NUM) (3003—H14 ALUMINUM) —=—0.050
o.718~1 -—
6" - 9" ——"
0.125" DIA. HOLES @ DOOR TOP
RAIL CLAD
1.50 ¢ & PR (3003—H14 ALUMINUM)
1.75" B ¢ o 16 GAGE * @
‘ ] o e o e o [/ o) ’ 1187/
/ /
NAILING FIN : 1 [ /]
@—W (29INSTALLATION cLip %% % Hokf

INT. THRESHOLD TRIM

(PONDEROSA PINE)

BiC
Bui

DRAWN BY: CHECKED BY:
K.P.S. W.W.S.
PLOT: QATE:
41 I‘—0.425 [ 05/13/03
— r
w
Z
a
>
o
z
Q
(N
o
Q
"
w
o
4
S
]
o
o
o]
z
o))
a
<
N
0
}_.Z
"
O <
Zz 3a¢
- <C
R4S
8.922 2235
QzZ .o
n > <O ©
5| 5%
8 D=9
a —J CDZL‘{—)
= ol
-1 & ™
Q NS
< aQc O
a S
= % z
T I 9
QI
g E
o d
L1 o S
) 4 < T
Q| @ §oo
(@] wl o3~
— e 0.050 = wg nl
=a. = 38
Q O™ 3
e .
5 wo ;_Ims
Q Z 35
[# EON
= W, %o
L3 39
2 Wi 1
Z | <=z 33
L S w%o Fq~
ES |5 580 221
=l EEY
— 1 o< |5 .3 Qiﬂ
r = © 4 i
= 7] ° Zz
< z . &
DOOR BOTTOM & 8% &
RAIL CLAD iy
(3003—-H14 ALUMINUM) o
z| oy &
2| S 3
<l o~ o\ =T
2 e Qg
PRODUCT BRVISED & “‘\\ Fu
omplvice with (52 Floridg 3 = uz_,ﬂ-
i o = g
i OB ) - S
7 DRAWING NO. |REV.
Dade Produce Contrg 1228A
SHEET NO.
11 or 12

"



—

DRAWN BY: CHECKED BY:
’7 K.P.S. WWS.
MATERIAL LIST MATERIAL LIST T
PART | REF PART 1 REF FASTENER MINIMUM w1 | 0s/13/03
NO. NO. DESCRIPTION NOTES NO. NO. DESCRIPTION NOQTES EMBEDMENTS .
PARTS & EXTRUSIONS 40 - #6 X 1 5/8" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 6" 0.C. 1) ALL TAPCONS =
1 |PF1010 | LINEAL JAMB WOOD MEMBER SEE NOTE 1 41 -~ #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" 0.C. MUST HAVE A MIN
. >
2 |PF1231 | CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 | = | #8 X 2" SMS SCREW 5 © EA. RECTANGULAR JAMB CORNER CONCRETE /BLOCK -
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD | SEE NOTE 1 43 | - | #8 X1 1/2" SMS SCREW 3 © EA RADIUS JAMB CORNER EMBED = 1 1/4”
= z
4 | PF1351 | LINEAL WOOD DOOR STOP SEE NOTE 1 44 - #6 X 3/4" SMS SCREW 2 © EA. JAMB CLAD CORNER INTO CLAD SPLINES 2
5 |PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT 1 @ TOP STILE & RAL, 2 BOTTOM STILE & RAIL 2) AL JAMB TO 5
6 |PF1008 | WOOD LINEAL GLAZING STOP SEE NOTE 1 46 - #12 X 3/4” SMS SCREW 4 ® EA HINGE INTO uaMB (ExcLupiNG Top mince) BUCK SCREWS MUST i
r4
7 | PF1008 | WOOD RADIAL GLAZING STOP LAMINATED VENEER 47 - #12 X 1 1/4" SS. SCREW 4 @ EA. HINGE INTO STILE HAVE A MIN. BUQ,K 2
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 48A - |#12X2 1/2" S.S. OR BRASS SMS 2 @ TOP HINGE ONLY THRU JAMB INTO BUCK EMBED = 1 3/8 g
9 |PF1362 | DOOR THRESHOLD CAP/BUMPER | SEE NOTE 1 48C = [1/47=20 X 3/4" MACHINE SCREW 2 @ TOP HINGE ONLY (WITH T—NUT) AT NO. 19 SCREWS .
10 | PF1507 | ASTRAGAL CAP SEE NOTE 1 49 - | #10 SMS SCREWS (1 3/8" MIN. BUCK EMBED) WITHIN 4" FROM CORNERS & MAX. 12 0.C. & 1 1/2"° AT NO. |2
11| PF1130 | RADIAL DOOR TOP RAIL LAMINATED VENEER 50 | - | #8 X 1 3/4" SMS SCREW 2" FROM ASTRAGAL ENDS & MAX. 12" O.C. 12 SCREWS.
12 | PF1131 | LINEAL DOOR TOP RAIL SEE NOTE 1 51A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK LENGTHEN SCREWS o
13 | PF1489 | WOOD ASTRAGAL LAMINATED VENEER 518 - (1 4;;" T1AP1C/(1F\'J, év(gl:‘ECl\é ng\doB ECD(gNCR.) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. AS REQ'D TO OBTAN §
14 [PF1132 | woOD BOTTOM RAIL SEE NOTE 1 ' ' ' =Z
52A | - | #6 X 3/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB REQD MIN EMBEDS. G o
15 [PF1130 { WOOD STILE SEE NOTE 1 Zz 25%
528 - #8 X 1 1/4” SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB < 02—
164/B| PF1001/1002 | JAMB CLADS 6063—T5 ALUMINUM . Oz
_ " )
17 | PF1017 |RADIAL GLASS STOP 606315 ALUMINUM 53A 1/4" TAPCON (WHEN INTO CONCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONCRETE Q25
(MIN. 1 1/4” CONCR. EMBED) FASTENER MINIMUM o< o
18 |PF1458 | ALUMINUM LINEAL GLASS STOP 6063—T5 ALUMINUM anl @ 268
- 538 - #10 SMS SCREW (MIN. 1 3/8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING EDGE DISTANCE: & Z 17
19 |PF1086 | 4 9/16” OUTSWING DOOR SILL 6063-T5 ALUMINUM . . . ol = o<
54A - 1/4" TAPCON (WHEN INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" 0.C. WooD = 1” 3 Sp o
20 PF1083 THRESHOLD EXTENDER 6063-T5 ALUMINUM (M|N. 1 1/4" CONCR. EMBED) - » (] il mCZ)B
22 |PF1295 | INTERIOR THRESHOLD TRIM ; . CONCR./BLOCK = 2 M
295 ERIO ESHOLD SEE NOTE 1 548 - #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) WITHIN 4" OF CORNERS & MAX. 12" 0.C. / 51 < N
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING | 3003—H14 ALUMINUM Sl [ o
55 #10 X 1.5 SMS SCREW (SIDE JAMB TO MULL PLATE) | 4" FROM CORNERS & MAX. 12" O.C. (P a
24 |PF1135 | TOP RAIL CLAD 3003-H14 ALUMINUM = o Z |2 z
- 10 X 2 1/2" SMS SCREW 4” FROM CORNERS & MAX 12" 0.C. Q o
25 |PF1134 | STILE CLAD 6063—T5 ALUMINUM # / ol [ -
57 - #8 X 1 3/4” SMS 3" FROM CORNERS & MAX 12" 0.C. Oz
26 |PF1136 | BOTTOM RAIL CLAD 3003-H14 ALUMINUM el E
57A - #8 X 1" SMS SCREW 3" FROM CORNERS & MAX. 8" 0.C. o
27 |PF1214 | VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION . & o
PF1326 S7B | - | #8 X 2 1/2" SMS SCREW 3" FROM CORNERS & MAX 12" 0.C. al € . ¢
<= S 1
28 | SK1031 |GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) SEALANTS Sl & 3f
INSTALLATION CLIP WITHIN 4" OF CORNERS & 12" MAX. 0.C. 58 - DOW 995 SILICONE FOR 1/2" GLAZING BITE | ¥<.8.
=t 9
30 |SK1156 |FIVE KNUCKLE FULL MORTISE HINGE|STANLEY NO. FBB191; STAINLESS STEEL 59 - DOW 1199 STRUCTURAL SILICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TO JAMB Q g L
(4 PER DOOR PANEL) OTHER é Gg ag3
<
31A - —U US TRIM SERIES 2000 HANDLE|USE WITH PART #32 LOCKING HARDWA RA eE £8
e c S £S 2 3 PART #32 L G_HAROWARE (BRASS) 60 - NORTON NORGLAZE .0625" X .437” GLAZING TAPE POLYOLEFIN FOAM W/ ACRYLIC ADHESIVE = 31_'5'! ;g‘ﬁ
SK1415 |W&F MFG. SERIES 1200 LOCKSET |INCLUDES HANDLE & SIN T (BRA 2 Xt
£ S £ OLE GLE DEAD BOLT (BRASS) 61 - TREMCO 440 BUTYL TAPE GASKET TRIM OFF AT EDGES (TYP. AT JAMB CLAD CORNERS z | 2554
32 -  |G-U 3-POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) o —— 13 |56 55F
PF1371 | FRAME WEATHER =5 |2Q0 ;8
33 |SK1193 |KML INTERIOR FLUSH BOLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR E WEATHERSEAL :;ID( %wﬁ f,g%
” " o .
34 | SK1597 |0.945"X2.25"X0.078" STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 66 [PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER = 2E 8%y
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL S ?
Q a
35 |SK1598 |4"X12" X1/8" STEEL STRIKE PLATE |LOCATED AT CENTER/TOP OF HEAD JAMB
(MIN. ASTM A446 GRADE A STEEL) |NICKEL PLATED OR PAINTED STEEL wj
a
FASTENERS : @0
pd \ L]
36 - #8 X 1 1/4" SMS SCREW OR WITHIN 4" FROM ENDS & MAX. 10 1/2" O.C. oI\ Tt
1 5/8" DRYWALL SCREW WITH FIN Slec \ N |Es
— " PRODUCT REVISED © Ja2
37 #8 X 1 1/4” SMS SCREW 2 PER CUP INTO BUCK (1 EA. SIDE OF BUCK) ALL WOOD USED WITH TESTED UNITS IS MINIMUM GRADE 2 as complying with the Florids e \ e
- " widing o L :
38 #8 X 5/8” PAN HEAD SMS SCREW 3 PER CLIP INTO JAMB PONDEROSA PINE. ALTERNATE WOOD SPECIES ACCEPTABLE Buisiag < 03 © éa
_ . " . - -
39 3/8" LONG STAPLE WITHIN 3° FROM CORNERS & MAX. 8" O.C. WITH THIS PRODUCT ARE THE FOLLOWING MINIMUM GRADE 2 %4 g
WOODS: 1. MAHOGANY 5. DOUGLAS FIR Lo |
DRAWING NO. [REV.
2. OAK 6. MAPLE 1228A
3. CHERRY 7. TEAK SHEET NO.
4. CYPRUS 12 oF 12




